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Question Number : 51 Question Id : 54025014101 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value
Comprehension MCQ
IfA:B:C=1:4:7 and B=(2x)% of (A+C), then x is :
(1) 12
2) 25
(3) 30
(4) 45
Options :

54025056401. 1
54025056402. 2
54025056403. 3
54025056404. 4

Question Number : 51 Question Id : 54025014101 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value
Comprehension MCQ
ARA:B:C=1:4:73ARB=(A+C) H (2x)% &, A x &I TH &M :
(1) 12
2) 25
3) 30
(4) 45
Options :

54025056401. 1
54025056402. 2
54025056403. 3
54025056404. 4

Question Number : 52 Question Id : 54025014102 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :



Key Value
Comprehension MCQ

The cost price 15 articles is equal to the selling price of 20 articles. Find the loss percentage.
(1) 20%

(2) 30%
(3) 40%
(4) 25%

Options :

54025056405. 1
54025056406. 2
54025056407. 3
54025056408. 4

Question Number : 52 Question Id : 54025014102 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value
Comprehension MCQ
15 a%gail 1 a ged 20 aEgsti & faska gea & ser ¥ @1f wfawa s shifse )
(1) 20%
(2) 30%
(3) 40%
(4) 25%
Options :

54025056405. 1
54025056406. 2
54025056407. 3
54025056408. 4

Question Number : 53 Question Id : 54025014103 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key 'Value
Comprehension MCQ

The marked price of a chair is 150% of its cost price. A discount of 30% is given while selling the
chair. What is the profit percentage ?

1) 7%
2 5%
(3) 4%
(4) 6%
Options :

54025056409. 1
54025056410. 2
54025056411. 3
54025056412. 4

Question Number : 53 Question Id : 54025014103 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key 'Value
Comprehension MCQ




s FHi 1 3ifehd Tod, 39 3 o § 150% A4h € | I=d T 30% ohi e &I St & | A Wi sm
2?

1) 7%
(2) 5%
(3) 4%
(4) 6%
Options :

54025056409. 1
54025056410. 2
54025056411. 3
54025056412. 4

Question Number : 54 Question Id : 54025014104 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value
Comprehension MCQ

Two years ago, population of a city was 16,52,600 which increased by 10% in the first year and by
15% in the second year. Find the present population of the city.
(1) 20,83,708
(2) 19,08,753
(3) 18,60,539
(4) 20,90,539
Options :
54025056413. 1
54025056414, 2

54025056415. 3
54025056416. 4

Question Number : 54 Question Id : 54025014104 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

A1 o Yed, U e I SHERA 16,52,600 ot S yoq 7 H 10% 9 7, wd fadta ad § 15% o, 3w A
A SHHS [ ﬁr\_’m ;

(1) 20,83,708

(2) 19,08,753

(3) 18,60,539

(4) 20,90,539

Options :

54025056413. 1
54025056414. 2
54025056415. 3
54025056416. 4

Question Number : 55 Question Id : 54025014105 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key 'Value
Comprehension MCQ




A sum of ¥ 10,000 becomes ¥ 14,400 on compound interest in 2 years. What is the rate of interest
per annum ?

(1) 10%
(2) 40%
(3) 20%
(4) 15%
Options :

54025056417. 1
54025056418. 2
54025056419. 3
54025056420. 4

Question Number : 55 Question Id : 54025014105 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value
Comprehension MCQ
10,000 T3 1 feT, TRafg =l W 2 99 | 714,400 §1 ST & | S4091 i anfies g a1 & ?
(1) 10%
(2) 40%
3) 20%
4) 15%
Options :

54025056417. 1
54025056418. 2
54025056419. 3
54025056420. 4

Question Number : 56 Question Id : 54025014106 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key 'Value
Comprehension MCQ

The area of a circle is 154 cm2. Find the circumference of the circle. [Take T = %)

(1) 22 cm

(2) 28 cm

(3) 44 cm

(4) 56 cm
Options :

54025056421. 1
54025056422. 2
54025056423. 3
54025056424. 4

Question Number : 56 Question Id : 54025014106 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key 'Value
Comprehension MCQ




T I 1 &% 154 cm? §, g9 w1 9ffy 3@ Fifew ) [w= 2)

7
(1) 22 cm
(2) 28 cm
(3) 44 cm
(4) 56 cm
Options :

54025056421. 1
54025056422. 2
54025056423. 3
54025056424. 4

Question Number : 57 Question Id : 54025014107 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key 'Value
Comprehension MCQ

If perimeter of a rhombus is 104 cm and length of one of its diagonals is 48 cm, then area of the
rhombus (in cm?) is :

(1) 960
(2) 240
(3) 480
(4) 1344

Options :

54025056425. 1
54025056426. 2
54025056427. 3
54025056428. 4

Question Number : 57 Question Id : 54025014107 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value
Comprehension MCQ

T FEEGHS A U 104 AL 8, AR 3HE wH fawol @i 9 48 HAR | wHEgdS w1 aFwd
(cm? ¥) F1d I :

(1) 960
(2) 240
(3) 480
(4) 1344
Options :

54025056425. 1
54025056426. 2
54025056427. 3
54025056428. 4

Question Number : 58 Question Id : 54025014108 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ




If point B(0, 1) is equidistant from points A(5, —3) and C(x, 6), then find the values of x.
(1) =2

2) =8
3) =*4
(4) =£5

Options :

54025056429. 1
54025056430. 2
54025056431. 3
54025056432. 4

Question Number : 58 Question Id : 54025014108 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

gzr);lprehension ;,/Iaél(l)e

=g fog B(0, 1) Tog3Ti A5, —3) 3R C (x, 6) H THGI &, &l x 1 AF 1 HifSC |
1) =2

2) =8

(3) =*4

(4) =£5
Options :

54025056429. 1
54025056430. 2
54025056431. 3
54025056432. 4

Question Number : 59 Question Id : 54025014109 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value

Comprehension MCQ

Find the median of the following data :
42, 19, 46, 17, 8, 35, 26, 39, 29

(1) 8
(2) 46
3) 29
(4) 35

Options :

54025056433. 1
54025056434. 2
54025056435. 3
54025056436. 4

Question Number : 59 Question Id : 54025014109 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value

Comprehension MCQ




frefafaa s =1 miftyent I Fifs -
42, 19, 46, 17, 8, 35, 26, 39, 29

(1) 8
(2) 46
(3) 29
(4) 35
Options :

54025056433. 1
54025056434. 2
54025056435. 3
54025056436. 4

Question Number : 60 Question Id : 54025014110 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value

Comprehension MCQ

Three coins are tossed once. Probability of getting no head is :

c
R—= oW &~ =

Options :

54025056437. 1
54025056438. 2
54025056439. 3
54025056440. 4

Question Number : 60 Question Id : 54025014110 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

1 faer, T W1y 3BTl S € 1 T o Fod (head) 7 379 &1 WifdeRan €

N W &= o

Options :

54025056437. 1
54025056438.2
54025056439. 3
54025056440. 4



Question Number : 61 Question Id : 54025014111 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value
Comprehension MCQ

Find the average of squares of first five natural numbers.

) 8
(2) 10
3) 11
4) 5
Options :

54025056441. 1
54025056442. 2
54025056443. 3
54025056444. 4

Question Number : 61 Question Id : 54025014111 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
e Ut Wighfaes deanedi & ol sl J1e7 F1d hife |
1) 8
@) 10
3) 11
@) 35
Options :
54025056441. 1

54025056442. 2
54025056443. 3
54025056444. 4

Question Number : 62 Question Id : 54025014112 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

Two bags of iron ore weight 180 kg 250 gm and 270 kg 50 gm respectively. How much iron ore
(in gm) must be taken out from the first bag and added to the second bag so that weight of the first
bag may then be two-third of the second bag ?

(1) 0.13
2) 13
(3) 130
(4) 500

Options :

54025056445. 1
54025056446. 2
54025056447. 3
54025056448. 4

Question Number : 62 Question Id : 54025014112 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key 'Value
Comprehension MCQ




%= aig ¥ W <1 Il o1 aei swE: 180 TR, 250 U e 270 fR.m. 50 U ¥ 1 Uge et # § foRa F=n
@t (um H) Frererst g I 5 eren S f ger 3 o ae, S 99 & e o S1-fae 81 S

(1) 0.13
(2) 13
(3) 130
(4) 500

Options :

54025056445. 1
54025056446. 2
54025056447. 3
54025056448. 4

Question Number : 63 Question Id : 54025014113 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

In a AABC right angled at A, if ZABC =60° and AC =4 units, then length of BC (in units) is :

() V3

8
@ 5
(3) 8

4
O
Options :

54025056449. 1
54025056450. 2
54025056451. 3
54025056452. 4

Question Number : 63 Question Id : 54025014113 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value
Comprehension MCQ

AABC H, ZA GHaI0 €13 ZABC=60° 3R AC=4 $#TE ¢, 9 BC I awE (31 H) g0
(1)

(2)
(3)

(4)

Options :

54025056449. 1
54025056450. 2
54025056451. 3
54025056452. 4

&= = Sle &

Question Number : 64 Question Id : 54025014114 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

|Key 'Value




IComprehension IMCQ |

The heights of two right circular cones are in the ratio 1 : 2 and the circumferences of their bases
are in the ratio 3 : 4. Find the ratio of their volumes.

(1) 32:9
(2) 9:32
(3} 7:v23
4) 23:7

Options :

54025056453. 1
54025056454. 2
54025056455. 3
54025056456. 4

Question Number : 64 Question Id : 54025014114 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

T Ta T WFHS T HaTE F ST 1: 2 S 3Tk STER 1 IR 1 ST 32 4 § 1 376 ST H1
ST I IS |

(1) 32:9
(2) 9:32
3) 7:23
4) 23:7
Options :

54025056453. 1
54025056454. 2
54025056455. 3
54025056456. 4

Question Number : 65 Question Id : 54025014115 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key 'Value
Comprehension MCQ

A, B and C can do a work in 10, 12 and 15 days respectively. In how many days will the work be
completed if B is assisted by both A and C on every third day ?

1
(i 7
2 73
3) 8
(4) 9
Options :

54025056457. 1
54025056458. 2
54025056459. 3
54025056460. 4

Question Number : 65 Question Id : 54025014115 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ




A, B3R C s w@ 1 F93: 10, 12 2R 15 feai # S g 13fe v T o7 A 3R C, B & 919 =
HYd @i, 9 39 M 1 U e | fohaq fegq @i ?

1
[y 7=

2
@ 7
(3) 8
4) 9
Options :

54025056457. 1
54025056458. 2
54025056459. 3
54025056460. 4

Question Number : 66 Question Id : 54025014116 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value
Comprehension MCQ

Which of the following speeds is maximum ?
(1) 73 m/s

(2) 284 km/h

(3) 6.5 m/min

(4) 0.0073 km/s

Options :

54025056461. 1
54025056462. 2
54025056463. 3
54025056464. 4

Question Number : 66 Question Id : 54025014116 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value
Comprehension MCQ
frafafeaa § 9 sm-df 7fq stfierad €2

(1) 7.3 =LA
(2) 284 fewdlA

(3) 6.5 /A0
(4)  0.0073 ferei. 4.
Options :

54025056461. 1
54025056462. 2
54025056463. 3
54025056464. 4

Question Number : 67 Question Id : 54025014117 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value
Comprehension MCQ




A thief is spotted by a policeman from a distance of 200 meters. The policeman starts chasing at a
speed of 10 km/h while the thief is running at a speed of 8 km/h. After how much time
(in minutes) will the thief be caught ?

(1) 3

(2] B
(3) 6
4) 8
Options :
54025056465. 1
54025056466. 2

54025056467. 3
54025056468. 4

Question Number : 67 Question Id : 54025014117 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value
Comprehension MCQ

Teh Yferg@ehtl 3, Teh | 1 200 m 1 g | @1 | gferderdl 10 km/h 1 71fd & =R 61 91 w1 8, S
=R 8 km/h &1 7Ifd ¥ g @1 ¥ | fohe g (fr=el #) =R gemen o ?

1 3
(2) >
(3) 6
(4) 8

Options :

54025056465. 1
54025056466. 2
54025056467. 3
54025056468. 4

Question Number : 68 Question Id : 54025014118 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

If 7-digit number 485A64B is divisible by 8 and 9, then find the greatest value of A +B.
(1) 18

(2) 6

(3) 9

(4) 12
Options :

54025056469. 1
54025056470. 2
54025056471. 3
54025056472. 4

Question Number : 68 Question Id : 54025014118 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value
Comprehension MCQ




Ifg 7-3Th= & 485A64B, 8 3L 9 T f99RT §, @1 A + B &1 2Afuesad |1 F1d hifew ?

(1) 18
(2) 6
3) 9
4) 12

Options :

54025056469. 1
54025056470. 2
54025056471. 3
54025056472. 4

Question Number : 69 Question Id : 54025014119 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key 'Value
Comprehension MCQ

A ladder 25 feet long is leaning against a wall such that it touches 24 feet high window. How far
is the foot of the ladder from the wall ?

(1) 245 feet

(2) 12 feet

(3) 9 feet

(4) 7 feet
Options :

54025056473. 1
54025056474. 2
54025056475. 3
54025056476. 4

Question Number : 69 Question Id : 54025014119 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value
Comprehension MCQ

25 Thie ol Uk Higl SR ¥ 30 YahR fodt € fF 24 wie S+t fagst &1 dt §1 99 W@ &1 f=en faa
R & fopart gt W82

(1) 24.5 ®ie

(2) 12 ®Ie

(3) 9 2

(4) 7 HIE
Options :

54025056473. 1
54025056474.2
54025056475. 3
54025056476. 4

Question Number : 70 Question Id : 54025014120 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :

Key 'Value
Comprehension MCQ




In an A.P., the product of the first term and the second term is 120 and the product of the second
term and the third term is 168. Find the tenth term of the A.P. when common difference d > 0.

(1) 132
2) 71
(3) 28
(4) 30
Options :

54025056477. 1
54025056478. 2
54025056479. 3
54025056480. 4

Question Number : 70 Question Id : 54025014120 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value
Comprehension MCQ

T TR 0 H, 98et 98 3T GHY U% 1 UFEA 120 § 3R 3HE TE IS IR E IS 1 YR 168 ¥ |
afg Fafa (d > 0) &, @ TR F0ft &1 1097 98 F1d Hifs |

(1) 132
2) 71
(3) 28
(4) 30
Options :

54025056477. 1
54025056478. 2
54025056479. 3
54025056480. 4

Question Number : 71 Question Id : 54025014121 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Chairman of First Finance Commission was
(1) Mahavir Tyagi

(2) A.K. Chandra

(3) K.C. Neogi

(4) K.C. Pant

Options :

54025056481. 1
54025056482.2
54025056483. 3
54025056484. 4

Question Number : 71 Question Id : 54025014121 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key 'Value
Comprehension MCQ




fog s & gam g T A A &1 92
(1) weER @

(2) TH =%

(3) k.l FrEEh

(4) .. o
Options :

54025056481. 1
54025056482. 2
54025056483. 3
54025056484. 4

Question Number : 72 Question Id : 54025014122 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value

Comprehension MCQ

Which one of the following is Greenhouse Gas ?
(1) Oxygen

(2) Hydrogen

(3) Methane

(4) Nitrogen

Options :

54025056485. 1
54025056486. 2
54025056487. 3
54025056488. 4

Question Number : 72 Question Id : 54025014122 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value

Comprehension MCQ

frefefad § 9 Si9-9 tH-sRa TH g ?

(2) TESNHE

(3) frem
(4) TEEISH
Options :

54025056485. 1
54025056486. 2
54025056487. 3
54025056488. 4

Question Number : 73 Question Id : 54025014123 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value

Comprehension MCQ




Lucknow city is situated on which Bank of River ?

(1) Ganga

(2) Gomati

(3) Tapti

(4) Sutlej
Options :

54025056489. 1
54025056490. 2
54025056491. 3
54025056492. 4

Question Number : 73 Question Id : 54025014123 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value
Comprehension MCQ
TGS Ve, for 981 o for ferd €2

(1) T

(2) Tt
(3)
(4) Hdds

Options :

54025056489. 1
54025056490. 2
54025056491. 3
54025056492. 4

Question Number : 74 Question Id : 54025014124 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value
Comprehension MCQ
Quit India Movement Started in

(1) 1944

(2) 1942

(3) 1940

(4) 1946

Options :

54025056493. 1
54025056494. 2
54025056495. 3
54025056496. 4

Question Number : 74 Question Id : 54025014124 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value
Comprehension MCQ
T BTG A< fhy o6 JTey gal o1 ?
(1) 1944
(2) 1942
(3) 1940
(4) 1946

Options :



54025056493. 1
54025056494. 2
54025056495. 3
54025056496. 4

Question Number : 75 Question Id : 54025014125 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value

Comprehension MCQ

The original name of Swami Vivekananda was ;
(1) Narendranath Dutt

(2) Aloknath Dutt

(3) Ajay Dutt

(4) Virendranath Dutt

Options :

54025056497. 1
54025056498. 2
54025056499. 3
54025056500. 4

Question Number : 75 Question Id : 54025014125 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value
Comprehension MCQ
T fererei=e o1 Hel T =1 o1 ?

(1) =A<
(2) 3TQ A1 e

(3) 3ISF <9
(4) =g
Options :

54025056497. 1
54025056498. 2
54025056499. 3
54025056500. 4

Question Number : 76 Question Id : 54025014126 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value

Comprehension MCQ

Champaran movement was meant for .
(1) Solving Problems of Indian Farmers
(2) Protest against the Government’'s Education Policy
(3) To remove defects of the Civil Services
(4) Separate Elections of Muslims
Options :
54025056501. 1
54025056502. 2

54025056503. 3
54025056504. 4

Question Number : 76 Question Id : 54025014126 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1



Question Key Details :

Key 'Value
Comprehension MCQ
TR S<ted e § frad defud €2

(1) R foreml s Treaei &l gesm & fag
(2) TR w1 fen Hifa & faars fagie

(3) wemEfTE Hansdl @i Jfedi 1 R HFA * fay
(4) THSHH % gk FTd & feg

Options :

54025056501. 1
54025056502. 2
54025056503. 3
54025056504 4

Question Number : 77 Question Id : 54025014127 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
Match List - I with List - IL
List - 1 List - II
(Instruments) (Artists)
(A) Guitar ()  Dr. Smt. N. Rajan
(B) Flute (I)  BishMillah Khan
(C) Shehnai (II) Hari Prasad Chaurasia
(D) Violin (IV) Brij Bhushan Kabra
Choose the most appropriate answer from the options given below :
(1) (A)-(1), (B)-(1), (O-(II), (D)-(IV)
(2)  (A)-aV), (B)-(), (©)-I), (D)-()
(3)  (A)(D), (B)-(IID), (O-IV), (D)-(I)
(4)  (A)-AV), (B)I), (©)-O), (D)-(I)
Options :

54025056505. 1
54025056506. 2
54025056507. 3
54025056508. 4

Question Number : 77 Question Id : 54025014127 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




o | -11

(arer 497) ( HeATeRTT )
(A) fRRr @) S Fd T, TsH
(B) @igh (1) fafee @l
(C) &g D) &R e JRfE
(D) arfe (IV) ST Y97 HTel

i feu T fosredi # | wad 3ferd ST 1 =99 Fife

(1) (A)-O), (B)-(1), (O)-1D), (D)-(IV)
(2)  (A)-IV), (B)-(11D), (O)-D), (D)-(I)
(3)  (A)-(D), (B)-(ID), (CO)-(1V), (D)-(II)
(4)  (A)-IV), (B)-(ID), (O)-(1), (D)-(IT)
Options :

54025056505. 1
54025056506. 2
54025056507. 3
54025056508. 4

Question Number : 78 Question Id : 54025014128 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Bamboo dance is an important folk dance of which state ?
(1) Assam
(2) Bengal
(3) Nagaland
(4) Tripura
Options :
54025056509. 1
54025056510. 2

54025056511. 3
54025056512. 4

Question Number : 78 Question Id : 54025014128 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
S I fohg T 1 Wewayul @k 9 § 2
(1) A9H
(2) e
(3) TS
(4) P
Options :

54025056509. 1
54025056510. 2
54025056511. 3
54025056512. 4



Question Number : 79 Question Id : 54025014129 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key 'Value
Comprehension MCQ

First Female IAS officer of India was
(1) Tina Dabi

(2) Kiran Bedi

(3) Kamaljeet Sandhu

(4) Anna George

Options :

54025056513. 1
54025056514.2
54025056515. 3
54025056516. 4

Question Number : 79 Question Id : 54025014129 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key 'Value

Comprehension MCQ

qd @] wgd Afgen wemafe sifusit m o ?
(1) & e

(2) foor ot

(3) hHASd HY

(4) 0SS
Options :

54025056513. 1
54025056514. 2
54025056515. 3
54025056516. 4

Question Number : 80 Question Id : 54025014130 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value

Comprehension MCQ

The basis for modern Periodic Table is
(1) Atomic Mass

(2) Physical Property

(3) Atomic Weight

(4) Atomic Number

Options :

54025056517. 1
54025056518.2
54025056519. 3
54025056520. 4

Question Number : 80 Question Id : 54025014130 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key 'Value

Comprehension MCQ




smyfreR st |Rof R iE ¥
(1) °eve Hafd

(2) ife T

(3) 9T MR

(4) YIHIY] hHiR
Options :

54025056517. 1
54025056518. 2
54025056519. 3
54025056520. 4

Question Number : 81 Question Id : 54025014131 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key 'Value
Comprehension MCQ

The boiling point of water

(1) is always 100°C

(2) depends on atmospheric pressure

(3) depends on the material of the container
(4) depends on relative humidity

Options :

54025056521. 1
54025056522. 2
54025056523. 3
54025056524. 4

Question Number : 81 Question Id : 54025014131 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value

Comprehension MCQ

T 1 T B
(1) gsa 100° dfcqad

(2) AFHUSEE T W R ®
(3) U H 3ufterd go7 1 T W FAef R §

(4) HUE TR W R e @

Options :

54025056521. 1
54025056522.2
54025056523. 3
54025056524. 4

Question Number : 82 Question Id : 54025014132 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value

Comprehension MCQ




The value of Avogardro’s Number is
(1) 1.6x10~1

(2) 6.023x102°

(3) 1.6x10%

(4) 6.023x1023

Options :

54025056525. 1
54025056526. 2
54025056527. 3
54025056528. 4

Question Number : 82 Question Id : 54025014132 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value

Comprehension MCQ

SATEMTEl H&T 1 1A 2l
(1) 1e6x10~1
(2) 6.023x1020
(3) 1.6x10%
(4) 6.023x10%3
Options :
54025056525. 1
54025056526. 2

54025056527. 3
54025056528. 4

Question Number : 83 Question Id : 54025014133 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key 'Value

Comprehension MCQ

An electric bulb has a filament made of

(1) Iron
(2) Lead
(3) Copper

(4) Tungsten

Options :

54025056529. 1
54025056530. 2
54025056531. 3
54025056532. 4

Question Number : 83 Question Id : 54025014133 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

ggqurehension ;I/Ia(lllg
e o aed o1 dq foraeRt 3 g @
(1) «®

(2) €@

(3) e

(4) FEA

Options :



54025056529. 1
54025056530. 2
54025056531. 3
54025056532. 4

Question Number : 84 Question Id : 54025014134 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value

Comprehension MCQ

Homi Jahangir Bhabha played an important role in the Discovery of
(1) Photoelectric effect

(2) Quantum theory

(3) Photosynthesis

(4) Nucleus Discovery

Options :

54025056533. 1
54025056534.2
54025056535. 3
54025056536. 4

Question Number : 84 Question Id : 54025014134 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value

Comprehension MCQ

Frefafed § & for stfasrr 4 St SRITIR s1s 1 wewaryui sfier 2
(1) 9okl forgd g

(2) Faied = fagia

(3)  URRI-HIAT

(4) ISz 1 @Sl

Options :

54025056533. 1
54025056534.2
54025056535. 3
54025056536. 4

Question Number : 85 Question Id : 54025014135 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value

Comprehension MCQ

Pluto was the famous author of Book
(1) Republic

(2) The Prince

(3) Great Tragedy

(4) Mother India

Options :

54025056537. 1

54025056538. 2

54025056539. 3
54025056540. 4

Question Number : 85 Question Id : 54025014135 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1



Question Key Details :

Key Value
Comprehension MCQ
Trefafea § 4 form, wfas g&s & o@s e 42
(1) Tofsas

2) = fyd

(3) e SrEt
(4) weX 3fea

Options :

54025056537. 1
54025056538.2
54025056539. 3
54025056540. 4

Question Number : 86 Question Id : 54025014136 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Which of the city in the world is known as the Name of ‘City of Gold" ?
(1) Johannesburg

(2) Rome

(3) Delhi

(4) Sydney
Options :

54025056541. 1
54025056542. 2
54025056543. 3
54025056544. 4

Question Number : 86 Question Id : 54025014136 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

fava ¥ forg wst &1 01 &1 ¥ (City of Gold) 7 & 1 Sl & ?
(1) SirarfE s

(2)

(3) faeett

(4) fastt

Options :

54025056541. 1
54025056542.2
54025056543. 3
54025056544. 4

Question Number : 87 Question Id : 54025014137 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




The UNO was formed on
(1) 21 August, 1944

(2) 7 October, 1944

(3) 24 October, 1945
(4) 24 October, 1946
Options :
54025056545. 1
54025056546. 2

54025056547. 3
54025056548. 4

Question Number : 87 Question Id : 54025014137 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key 'Value
Comprehension MCQ

T TS HE 6l 9] %l g5 ol |

(1) 21 3FTE 1944
(2) 7 AHRE 1944
(3) 24 TR 1945
(4) 24 TR 1946

Options :

54025056545. 1
54025056546. 2
54025056547. 3
54025056548. 4

Question Number : 88 Question Id : 54025014138 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value

Comprehension MCQ

Which country will host the Common Wealth Games 2026 ?
(1) Newzealand

(2) India

(3) Australia

(4) Pakistan

Options :

54025056549. 1
54025056550. 2
54025056551. 3
54025056552. 4

Question Number : 88 Question Id : 54025014138 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value

Comprehension MCQ




o9 2026 % TLHUSH Gl &1 At 741 § 9 g <91 gr1 kit St ?
(1) stieive

(2) WRd

(3) eeferan

(4) HIfREE
Options :

54025056549. 1
54025056550. 2
54025056551. 3
54025056552. 4

Question Number : 89 Question Id : 54025014139 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value

Comprehension MCQ

Who won the Men’s single title of Wimbledon 2022 ?
(1) Novak Djokovic
(2) C. Alcaraz Garbia
(3) Rafael Nadal
(4) C. Ruud
Options :
54025056553. 1
54025056554 2

54025056555. 3
54025056556. 4

Question Number : 89 Question Id : 54025014139 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key 'Value
Comprehension MCQ

ferarere 2022 =1 T Wehel faa@ f ° | forme Sftar?
(1) e fesifaaes

(2) H. TR Mie

(3) e TS

(4) . &S

Options :

54025056553. 1
54025056554. 2
54025056555. 3
54025056556. 4

Question Number : 90 Question Id : 54025014140 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value

Comprehension MCQ




The headquarters of SAARC is situated at

(1) India

(2) Srilanka

(3) Bhutan

(4) Nepal
Options :

54025056557. 1
54025056558. 2
54025056559. 3
54025056560. 4

Question Number : 90 Question Id : 54025014140 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key 'Value
Comprehension MCQ
e 1 JEed T feoa
(1) ¥Rd
(2) ot et

(3) ¥eH
(4) U

Options :

54025056557. 1
54025056558. 2
54025056559. 3
54025056560. 4

Question Number : 91 Question Id : 54025014141 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value

Comprehension MCQ

Find the next term of the given Alphanumeric series :
4 CV,9FU, 20IT, 43 LS, 2

(1) 89 OR
(2) 90 OR
(3) 91 OR
(4) 91 QR

Options :

54025056561. 1
54025056562. 2
54025056563. 3
54025056564. 4

Question Number : 91 Question Id : 54025014141 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value

Comprehension MCQ




e dge § S7en AT U &1 B
4CV,9FU,201IT, 431S, 2 _

(1) 89 OR
(2) 90 OR
(3) 91 OR
(4) 91 QR

Options :

54025056561. 1
54025056562. 2
54025056563. 3
54025056564. 4

Question Number : 92 Question Id : 54025014142 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
Rakesh goes 20 m North, then turns right and walk 25 m, then again turns right and walks 15 m,
then again turns right and walks 25 m. How far is he from his original position ?

(1) 10 m

(2) 5m

(3) 15 m

(4) 6m

Options :

54025056565. 1

54025056566. 2

54025056567. 3
54025056568. 4

Question Number : 92 Question Id : 54025014142 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

TH9 ST I 3R 20 HiX T &, Th o8 T 3R Tea 25 Hex =l ¥ | 98 e 9 3R e 15 HieR
Tl &, R o8 S S ST gt 25 Hiet Jeidl § | 79 98 79 gol ¥IF ¥ fohd g | E?
(1) 10 HIX

(2) 5 HiX

(3) 15 HIEX

(4) 6 HIX
Options :

54025056565. 1
54025056566. 2
54025056567. 3
54025056568. 4

Question Number : 93 Question Id : 54025014143 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value
Comprehension MCQ




Study the following information to answer the given question :

A, B, C D, E F, G and H are eight family members sitting around a circle facing towards the
cenfre.

(i) His on the immediate left of A but is not the neighbour of E or D.
(i) F is on the immediate right of B and G is the neighbour of E.

(i) C is between E and F.

What is the position of D ?

(1) on the immediate left of B

(2) Dbetween A and G

(3) between B and F

(4) Dbetween G and C

Options :

54025056569. 1
54025056570. 2
54025056571. 3
54025056572. 4

Question Number : 93 Question Id : 54025014143 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key 'Value
Comprehension MCQ

Study the following information to answer the given question :

A,B,C,D,E F G 3R H U 9RaR ¥ 313 Y2 JahR &9 § &5 HI 3R Hg FF 93 F)
() HAFFHRemaE iR afF ET D% g d 72 g

(i) F, B%h fehean o 3R § 3iR G, E &1 w2 ¥

(i) C, E3RF % 77 T

e D i fefa s @ 2

(1) B fehedq 9 AR

2) AIRGHFAAY

(3) BRF&F U

(4) GIRCHFTUAH

Options :

54025056569. 1
54025056570. 2
54025056571. 3
54025056572. 4

Question Number : 94 Question Id : 54025014144 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value
Comprehension MCQ

There are six Professors in a Physics department. They are P, Q, R, S, T and W. all are sitting
around a hexagonal dinning table to have Lunch. Q is sitting between W and R, P is sitting
between T and S and W is sitting to the left of S. Who is sitting between P and W ?

(1) T

(2) R

3) Q

(4) S
Options :

54025056573. 1



54025056574. 2
54025056575. 3
54025056576. 4

Question Number : 94 Question Id : 54025014144 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value
Comprehension MCQ

sfifcrent fawm § 6 weAwss ¥, P, Q, R, S, T 3R W Hft S9a 1 IS & & fofu seyeied, fisH it 3
FAN AISTIWIRRFAA QUBTRISHAN TH AP AT &1 S oS SIRW &8I &1 dd P AL W
& AT i J31 &2

) T
(2) R
3) Q
4) S
Options :

54025056573. 1
54025056574. 2
54025056575. 3
54025056576. 4

Question Number : 95 Question Id : 54025014145 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

Read the Conclusions and then decide which of the given conclusion logically follows the given
two statements, disregarding the known facts.

Statements :
Some Books are Parks.
Some Parks are Festival.
No Festival is Bank.
Conclusions :
(I) Some Books are Bank.
(II) Some Parks are not Bank.
(1) only conclusion I follows
(2) only conclusion II follows
(3) both conclusion I and II follows
(4) none of the conclusion follows

Options :

54025056577. 1
54025056578. 2
54025056579. 3
54025056580. 4

Question Number : 95 Question Id : 54025014145 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value
Comprehension MCQ
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54025056578. 2
54025056579. 3
54025056580. 4

Question Number : 96 Question Id : 54025014146 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

On which day of the week was birthday of Arjun if week is starting from Monday ?

(I)  Arjun celebrated his birthday the very next day on which Sahil celebrated his birthday.

(I) ~ The sister of Arjun was born on the fifth day of the week and two days after Arjun was born.
(1) if the data in statement I alone are sufficient to answer the question

(2) if the data in statement II alone are sufficient to answer the question
(3)

if the data either in statement I alone or in statement II alone are sufficient to answer the
question

(4) if the data in both statement I and II together are necessary to answer the question

Options :

54025056581. 1
54025056582. 2
54025056583. 3
54025056584. 4

Question Number : 96 Question Id : 54025014146 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key 'Value
Comprehension MCQ
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Options :

54025056581. 1
54025056582. 2
54025056583. 3
54025056584. 4

Question Number : 97 Question Id : 54025014147 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key 'Value
Comprehension MCQ
If RAMAYAN =14, MAHABHARTH =20, ASTAVAKRA =18 then KURAN=?
(1) 10
2) 12
3) 14
4) 16
Options :

54025056585. 1
54025056586. 2
54025056587. 3
54025056588. 4

Question Number : 97 Question Id : 54025014147 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
gf¢ RAMAYAN =14, MAHABHARTH =20, ASTAVAKRA =18 9 KURAN =?
(1) 10
2) 12
(3) 14
4) 16
Options :

54025056585. 1
54025056586. 2
54025056587. 3
54025056588. 4

Question Number : 98 Question Id : 54025014148 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value

Comprehension MCQ




A Clock was set correct at 10 O’clock. It loses 10 minutes per hour. What will be the angle
between the hour and minute hands of the clock after one hour ?

(1) 65°
(2) 50°
(3) 25°
(4) 67°

Options :

54025056589. 1
54025056590. 2
54025056591. 3
54025056592. 4

Question Number : 98 Question Id : 54025014148 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value
Comprehension MCQ
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(1) 65°
(2) 50°
(3) 25°
(4) 67°
Options :

54025056589. 1
54025056590. 2
54025056591. 3
54025056592. 4

Question Number : 99 Question Id : 54025014149 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

What was the day on 10th January, 1951 ?
(1) Tuesday
(2) Wednesday
(3) Thursday
(4) Friday
Options :
54025056593 1
54025056594. 2

54025056595. 3
54025056596. 4

Question Number : 99 Question Id : 54025014149 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value
Comprehension MCQ




10 STel 1951 a1 shiF-41 fa= e ?

(1) #HITAaR

(2) FER

(3) dRaR

(4) LR
Options :

54025056593. 1
54025056594. 2
54025056595. 3
54025056596. 4

Question Number : 100 Question Id : 54025014150 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value
Comprehension MCQ

Arjun said to Rohan, “That boy playing hockey is the younger of the two brothers of the daughter
of my father’s wife.” How is the boy playing hockey related to Arjun ?

(1) Son

(2) Brother

(3) Nephew

(4) Brother-in-law
Options :

54025056597. 1
54025056598. 2
54025056599. 3
54025056600. 4

Question Number : 100 Question Id : 54025014150 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value
Comprehension MCQ
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(4) HIeT / s
Options :
54025056597 1
54025056598 2
54025056599. 3
54025056600. 4

Question Number : 101 Question Id : 54025014151 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value
Comprehension MCQ




Some sentences are coded in a an artificial language. Find the correct sentence for the given
code :

“qust ovlb” means Spritual journey
“tuxn qust” means Spritual people
“pusb ovlb” means Beautiful journey

What does “Healthy People” mean ?

(1) qust zomr

(2) pusb zomr

(3) tuxn zomr

(4) ovlb zomr

Options :

54025056601. 1
54025056602. 2
54025056603. 3
54025056604 4

Question Number : 101 Question Id : 54025014151 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value
Comprehension MCQ

S 9T %S SRl Rl Hehd Tgid | feran 0 7 1 7, § E dehd-vgfa § @@t @ Fid Fife
“qust ovIb” 1 37 ) Spritual journey
“tuxn qust” 1 Y %Spritual people
“pusb ovlb” & A% § Beautiful journey

ddl, “Healthy People” &l 3 -

(1) qust zomr

(2) pusb zomr

(3) tuxn zomr
(4) ovlb zomr

Options :

54025056601. 1
54025056602. 2
54025056603. 3
54025056604 4

Question Number : 102 Question Id : 54025014152 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value
Comprehension MCQ

Choose the missing terms out of given alternatives :
A3, E4, 110, O33, U136, _?

(1) A680
(2) E681
(3) 1684
(4) A685

Options :

54025056605. 1
54025056606. 2
54025056607. 3
54025056608. 4



Question Number : 102 Question Id : 54025014152 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :
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Comprehension MCQ

feu T foemedi & 9 o8 18 9T :
A3, E4, 110, 033, U136, __2

(1) A680
(2) E681
(3) 1684
(4) A685
Options :

54025056605. 1
54025056606. 2
54025056607. 3
54025056608. 4

Question Number : 103 Question Id : 54025014153 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value
Comprehension MCQ

Given below are two statements : one is labelled as Assertion (A) and the other is labelled as
Reason (R).

Assertion (A) : A person jumping out of the moving bus falls forward because his feet suddenly
come to rest, while his body is in motion with the bus.

Reason (R) : This is based on Newton’s Second law of motions, which states that a body
continues to be in it’s state of rest or of uniform motion in a straight line unless
compelled by an external force to change that state.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A)
(3) (A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct

Options :

54025056609. 1
54025056610. 2
54025056611. 3
54025056612. 4

Question Number : 103 Question Id : 54025014153 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value
Comprehension MCQ
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Options :

54025056609. 1

54025056610. 2

54025056611. 3
54025056612. 4

Question Number : 104 Question Id : 54025014154 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

Find the alternative which contains figure (X) as its part :

_ =

) (A) (B) © (D)

(1) (A)
(2) (B)
3) (©
(4) (D)
Options :

54025056613. 1
54025056614. 2
54025056615. 3
54025056616. 4

Question Number : 104 Question Id : 54025014154 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ




stRfa (X) ® feu e v =1, fou fashedl 9 9 9@ wifaw
N,

) (A) (B) © (D)
(1) (A)
(2) (B)
@) (©)
4) (D)
Options :

54025056613. 1
54025056614. 2
54025056615. 3
54025056616. 4

Question Number : 105 Question Id : 54025014155 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

The door of Aman’s house faces the East. From the back side of his house, he walk straight 100
meters, then turns to the left and walks 100 metre again. Finally, he turns towards left and stops
after walking 50 meters. Now, Aman is in which direction from the starting point ?

(1) North-East

(2) North-West

(3) South-East

(4) South-West

Options :

54025056617. 1
54025056618. 2
54025056619. 3
54025056620. 4

Question Number : 105 Question Id : 54025014155 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key 'Value
Comprehension MCQ
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(1) SO-E

(2) IR-ufe=H

(3) fao-gE

(4) <fgu-ufesm
Options :

54025056617. 1
54025056618. 2
54025056619. 3
54025056620. 4



Question Number : 106 Question Id : 54025014156 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :
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Comprehension MCQ

Find out which of the answer figures (1), (2), (3) and (4) complete the figure Matrix ?

~

@4 ® © O

(1
(2
(

Options :

54025056621. 1
54025056622.2
54025056623. 3
54025056624. 4

Question Number : 106 Question Id : 54025014156 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
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() (A)
(2) (B)
3) (©
(4) (D)
Options :

54025056621. 1
54025056622. 2
54025056623. 3
54025056624. 4

Question Number : 107 Question Id : 54025014157 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Find out which resembles the pattern formed when sheet is folded along the dotted line ?

() (A)
(2) (B)
3 (©
(4) (D)
Options :

54025056625. 1
54025056626. 2
54025056627. 3
54025056628. 4

Question Number : 107 Question Id : 54025014157 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :
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S TRl fargran & Hre1 S 81 @t frefafad 5 | swe-a1 wfasy (Yed) ffda dar g ?

@ e

o

(A) (B) ©) (D)
(1) (A)
(2) (B
3) (©
4) (D)
Options :

54025056625. 1
54025056626. 2
54025056627. 3
54025056628. 4

Question Number : 108 Question Id : 54025014158 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
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Read the following information carefully and answer the questions :

(a) Six persons P, Q, R, S, T and U are sitting in two rows, three in each.
(b) T is not at the end of any row

(c) Sissecond to the left of U

(d) R, the neighbour of T, is sitting diagonally opposite to S

(e) Qs the neighbour of U

Which of the following group of people are in the same row ?

(1) PTU
(2) PIR
(3) RSP
(4) QTR

Options :

54025056629. 1
54025056630. 2
54025056631. 3
54025056632. 4

Question Number : 108 Question Id : 54025014158 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :
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Comprehension MCQ
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(1) PTU
(2) PTR
(3) RSP
(4) QTR
Options :

54025056629. 1
54025056630. 2
54025056631. 3
54025056632. 4

Question Number : 109 Question Id : 54025014159 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
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Which of the figure would complete the pattern ?
Problem
figure

©

®
@ ® O O

e

(1
(2
(3
(4)
Options :
54025056633. 1
54025056634. 2

54025056635. 3
54025056636. 4

IR

— — — —
e

Question Number : 109 Question Id : 54025014159 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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e & | -t erpfa few e wfee <A wgof et @ 22
U9 3MTepfd
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aPdDd
(A)  (B) © (D)
(1) (A)
(2) (B
3) (©
(4) (D)
Options :

54025056633. 1
54025056634. 2
54025056635. 3
54025056636. 4

Question Number : 110 Question Id : 54025014160 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
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Which of the figure would complete the pattern ?
Problem
figure

&

o 7| DD | |8

@  ® © O

(1) (A)
(2) (B)
3) (©
(4) (D)
Options :

54025056637. 1
54025056638. 2
54025056639. 3
54025056640. 4

Question Number : 110 Question Id : 54025014160 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
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(1) (A)
(2) (B)
3) (©
(4) (D)
Options :

54025056637. 1
54025056638. 2
54025056639. 3
54025056640. 4



